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1) Syntax is defined as the study of

1) - Word structure
2) +  Sentence structure
3) - Meaning
2) Predicate is the
1) - NP that is immediately dominated by S’
2) + VP that is immediately dominated by ‘S’
3) - NP that is dominated by ‘S’
3) The head in the phrase ‘very handsome’ is
1) - very
2) + handsome
3) - both
4) The phrase ‘undeliberate mistake'is
1) - Adjective Phrase
2) +  Noun Phrase
3) - Adverb Phrase

5) The essential element in a phrase that names its category refers to
1) +  The head
2) - The modifier
3) - The complement
6) A prepositional phrase (PP)
1) + is a phrase whose head is preposition

2) - is a phrase whose head is noun

3) - is a phrase whose head is a verb
7) The subject- predicative is a characteristic of

1) - Complex verbs

2) - Ditransitive verbs

3) +  Intensive verbs
8) Adverbs can be modifiers for

1) - Nouns
2) +  Verbs
3) - Nouns or Verbs
9) The sentence ‘I believe he is smart’ contains

1) - Contains one S
2) +  Contains one S-bar
3) - Contains S-double bar

10) The question ‘“What has been said?’ contains
1) - One movement
2) - Two movements

3) +  Three movements
11) The phrase ‘These people with white dresses’ contains
1) +  Only a determiner

2) - Only a Pre-determiner

3) - Both a pre-determiner and a determiner
12) The question 'What can [ do?' contains

1) - One movement
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+ Two movements
3) - Three movements
13) The PP in ‘He answered the question in the class
9] + Is modifying the verb
2) - Is modifying the noun
3) - Modifies both the noun and the verb
14) Verb (to be) in ‘She is calling her mother' is
1) +  Progressive
2) - Passive
3) - Main verb
15) The object-predicative is following
1) + complex verbs

>

2) - Transitive verbs
3) - Intensive verbs
16) The adverb in © The teacher postponed the exam twice.’ is
1) - Modifying the noun
2) +  Modifying the verb
3) - Modifying the whole sentence
17) One way dependency refers to
1) - Head - complement
2) + Head - modifier
3) - Head-modifier/complement
18) The verb sub-category in ‘They spent their money shopping’ is
1) - Prepositional
2) - Ditransitive

3) +  Complex
19) The verb that is followed by two NP complements (IO and DO) is called

9] - Complex
2) +  Ditransitive
3) - Transitive

20) In the question ‘Do they know the bad news?’ , there are
1) +  One movement

2) - Two movements
3) - Three movements
21) The verb sub-category in the question ‘What did she give him?’ is
1) - A transitive verb
2) + A Ditransitive verb
3) - A complex verb
22) A prepositional phrase (PP) is
1) - always a modifier
2) - always a complement

3) + sometimes a modifier and sometimes a complement
23) The sentence 'People think that kids do not know that life is a challenge for them' contains

1) - S
2) - S
3) + S
24) The question ‘What has been eaten?’ contains
1) - Two CPs and one movement
2) - Two CPs and two movements
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3) + Two CPs and three movements
25) An NP is moving from the object position to the subject position in case of
1) - Question
2) - Progressive
3) + Passive
26) The verb sub-category in the question “Who came?’ is
1) +  intransitive verb
2) - transitive verb
3) - aditransitive verb
27) A modifier is
1) + always optional

2) - always obligatory

3) - sometimes optional and sometimes obligatory
28) The question 'who is coming?' contains

1) - Three CPs

2) - Two CPs

3) +  One CP
29) The question Where is he going?’ contains

1) - Two CPs and one movement
2) + Two CPs and two movements
3) - Two CPs and three movements
30) An NP is moving from the subject position to the CP' position in case that subject is
1) - Question
2) - passive

3) +  Passive and question
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